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1 9:.00 PN AL VPEYRRY— « IR=)LIL—LA BIRFE | 14 2 12 6 WeT-F 9
2 939 PN e N » M—=JUIL—A 1R CEHD 2 1 2 2 WeT 3
3 942 PN e DR s IR—=ILIL—LA 1R CEHD 2 1 2 2 WeT 3
4 945 PN e CH s IR—=)UIL—LA 1R 15 2 12 6 WeT-F 9
5 954 PN Y2780 « Ih—=)LIL—LA 1R CER 7 1 7 3 WeT-F 5
6 959 70O« B« IM=JLIL—AmTLyya) 1R CEHD 7 1 7 4 WeT-F-Q 7
7 | 1006 PR FALPEYRRI— « R—UIL—A(JTLwYa) ETRBS 12 1 6 8 WeT+F-Q 12
8 10118 JO A VEYRRY =« R=JLIL—Awryyva | 1R CER) 7 1 7 4 WeT-F-Q 7
9 1025 PN« CHl s M=)LIL—L RS 12 1 6 6 WeT-F 5
10 | 1030 PN e N » M—=JUIL—A A 2 1 Bz 2 WeT 3
11 | 1033 PN e DR s IR—=ILIL—LA A 2 1 Bz 2 WeT 3
12 | 10:36 PN 27”80 « iIh—=)LIL—LA RS 7 1 Bz 3 WeT-F 5
13 | 1041 PN« CH s IR—=IUIL—LA A 6 1 Bz 3 WeT-F 5
14 | 1046 70O« B« IM=JLIL—AmTLyya) RS 7 1 Bz 4 WeT-F-Q 7
15 | 1053 PR FAVPEYRRY— « R=)LIL—AWILyvya) RS 6 1 Bz 4 WeT-F-Q 7
16 | 11:00 JOHA1VEYRRY— « IR—LIL—AWLILyva) RS 7 1 Bz 4 WeT-F-Q 7
17 | 1107 FRED 20
18 | 1127 JO105 YR« SFTY BIRFE | 18 2 12 2 C 4
19 | 1131 JO105 YR« SFTY BIRFE | 18 2 12 2 S 4
20 | 1135 JO-1059Y2 % BIRFE | 18 2 12 2 R 4
21 | 1139 JO105 YR« S7Y BIRFE | 18 2 12 2 P 4
22 | 1143 JO105 YR« SFTY BIRFE | 18 2 12 2 J 4
23 | 1147 PN Nk« ST 1R CEHD 1 1 1 2 3
24 | 1150 PN Dk e STV 1R CEHD 2 1 2 2 C-+*R 3
25 | 11563 JO-Dk STV 1R CEHD 2 1 2 2 C-+*R 3
26 | 1156 PY e CHh e STV 1R CEHD 4 1 4 3 C+S-*R 5
27 | 1201 JO-CHh>S7Y 1R CEHD 2 1 2 3 C+S-*R 5
28 | 12106 PR Bk STV 1R 14 2 12 4 C+S*R-P 12
29 | 1218 JOB#kSTVWILyYa) 1R CEHD 4 1 4 4 C+S*R-P 7
30 | 1225 PN - REIBAR TYWoLyva) 1R CEHD 8 1 6 5 C+S-R-P-J 9
31 | 1234 JO105 YR« SFTY RS 12 1 6 1 C 2
32 | 1236 JO105 YR« SFTY RS 12 1 6 1 S 2
33 | 1238 JO 105V o RS 12 1 6 1 R 2
34 | 1240 JO-10% o RS 12 1 6 1 P 2
35 | 1242 JO-10% o RS 12 1 6 1 J 2
36 | 1244 PR Bk STVwoLYYI) RS 12 1 6 4 C+S*R-P 7
37 | 1251 PN Nk« 57V A 1 1 Bz 2 C-+*R 3
38 | 1254 PR Dk STV AT 2 1 Bz 2 C-+*R 3
39 | 1257 JO-D#k STV AT 2 1 Bz 2 C-+*R 3
40 | 1300 PR Cihe>TYV AT 4 1 Bz 3 C+S-*R 5
41 | 1305 JO-CHh>7 AT 2 1 Bz 3 C+S-*R 5
42 | 1310 PN Bk e STV WILYYI) RS 6 1 Bz 4 C+S*R-P 7
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43 | 1317 JO+Bfk-SFYwILyya) RS 4 1 llghs | 4 C-S*R-P 7
44 | 1324 PN e REBAR STV WILyya) RS 6 1 gz | 5 |C+S+R+P-J| 9
45 | 1333 JO-105YR 3557V RS 6 1 gtz 1 C 2
46 | 1335 JO-105YR 3557V RS 6 1 gtz 1 S 2
47 | 1337 JO-105YR 3557V RS 6 1 gtz 1 R 2
48 | 1339 JO-105YR 3557V RS 6 1 gtz 1 P 2
49 | 1341 JO-105YR 3557V RS 6 1 gtz 1 J 2
50 | 1343 xREN BESKBN 29
51 | 1412 PR« Bk e M—ILIL—LA FIRFE | 25 2 20 8 WeT-F-Q 12
52 | 1424 70 « NfR « IR—=)LIL—L 1R CER 2 1 2 2 WeT 3
53 | 1427 PR IZPTO - R=ILIL—A FIRFE | 15 2 12 6 WeT-F 9
54 | 1436 70 - Dk« M=)UIL—L 1R CER 5 1 5 2 WeT 3
55 | 1439 70« CH#k + M=)UIL—L 1R CER 8 1 6 3 WeT-F 5
56 | 1444 PR e YZPRY— « M=)LIL—L FIRFE | 13 1 13 6 WeT-F 9
57 | 14563 70 YIPRI— - IR=)UIb—Aworyya) | TR CER 7 1 7 4 WeT-F-Q 7
58 | 1500 70108 YR « M=JLIL—L FIRFE | 18 2 12 2 W 4
59 | 1504 70108 YR « M=JLIL—L FIRFE | 18 2 12 2 T 4
60 | 1508 701059V « M=JLIL—L FIRFE | 18 2 12 2 Vw 4
61 | 1512 70105V « M=JLIL—L FIRFE | 18 2 12 2 F 4
62 | 1516 70108 YR « M=JLIL—L FIRFE | 18 2 12 2 Q 4
63 | 1520 PR« Bk e M—ILIL—LA F2RFE | 20 2 12 8 WeT-F-Q 12
64 | 1532 PR IZPTO - R=ILIL—A HERR 12 1 6 3 WeT-F 7
65 | 1539 PR e YZPRY— « M=)LILb—LWILyya) HERR 13 1 6 4 WeT-F-Q 7
66 | 1546 70108 YR « M=JLIL—L HERR 12 1 6 1 W 2
67 | 1548 701059V « M=JLIL—L HERR 12 1 6 1 T 2
68 | 15560 701059V « M=JLIL—L HERR 12 1 6 1 Vw 2
69 | 15562 70108 YR « M=JLIL—L HERR 12 1 6 1 F 2
70 | 1554 70105V « M=JLIL—L HERR 12 1 6 1 Q 2
71 | 1556 P Bk e M—=ILIL—LwWILyya) HERR 12 1 6 4 WeT-F-Q 7
72 | 1603 70 « NfR « IR—=)LIL—LA RS 2 1 llghs | 2 WeT 3
73 | 1606 70 - Dk« M=)UIL—L RS 5 1 llghs | 2 WeT 3
74 | 1609 70« CH#k + M=)UIL—L RS 6 1 gz | 3 WeT-F 5
75 | 1614 PR IZPTO - R=ILIL—A RS 6 1 gz | 3 WeT-F 5
76 | 1619 70« YZIPRY— - IR=)UIb—AWLILyya) RS 7 1 llghs | 4 WeT-F-Q 7
77 | 1626 PR e YZPRY— « M=)UILb—LWILyva) RS 6 1 llghs | 4 WeT-F-Q 7
78 | 1633 P Bk e M=ILIL—LWILyya) RS 6 1 llghs | 4 WeT-F-Q 7
79 | 1640 701059V « M=JLIL—L RS 6 1 gtz 1 W 2
80 | 1642 70105V « M=JLIL—L RS 6 1 gtz 1 T 2
81 | 1644 701059V « M=JLIL—L RS 6 1 gtz 1 Vw 2
82 | 1646 70105V « M=JLIL—L RS 6 1 gtz 1 F 2
83 | 1648 701059V « M=JLIL—L RS 6 1 gtz 1 2
84 | 1660 RELD 25
85 | 1715 RREE (RERTEER)




